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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7
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P3-7
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45.04 —®
44.5
44.0
43.5 -
695 700 705
m=815,m FV0=0
-— MW
46. 25 ~
46. 00
45. 75 A
45. 50 ~
45. 25 A
45. 00 ~

815

820 825

40.

39.

39.

38.

38.

37.

43.

43.

42.

42.

45.

44,

44.

46.

46.

45.

45.

m=390, FV0=0
—0— MW
3é0 3é5 460
m=595,n FV0=0

1T —e— mw

=

T T
595 600 605

m=725,m FV0=0

—— MW

725 730 735

m=850,m FV0=0

-— MW

850 855 860




m=885, FV0=0

46.5 -

46. 0

45.5

45.0

—o—

M_Ww

885

T
890

T
895

m=920, FV0=0
—— MW
46.5
46.0
45.5 A
T T T
920 925 930

m=935, FV0=0
—— MW
46.5 -
46. 0
45.5
T T T
955 960 965

m=995, FV0=0

46.75

46. 50 -

46. 25 -

46. 00 -

45.75 A

45. 50 A

—o—

M_W

995

T
1000

T
1005
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P3-7

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:35 273 150.0 2.583 F  BRi1%e06:35 BE1 (RAERSE)
07:15 273 150.0 2.583 = {RRiB007:15 B (REAKEE)
08:25 273 150. 0 2.583 E  BRi&e08:25 BE1 (RAERRE)
09:25 273 150.0 2.583 5| 1RiR009:25 Bz (KREAEES)
10:10 273 150.0 2.583 =l RRiB0@10:10 Bz (REAKEE)
10:55 273 150. 0 2.583 E BRi%e10:55 Bzl (GRAERERE)
11:35 273 150.0 2.583 S {Ri%e11:35 Bz (GRAERSE)
12:15 273 150.0 2.583 =l RiBe12:15 Bz (REAKEEE)
12:50 273 150. 0 2.583 E BRige12:50 Bz (GRAERESE)
13:25 273 150.0 2.583 5| {Ri%e13:25 B3 (RAERSE)
14:00 273 150.0 2.583 =l RRiB014:00 B (RFAEESE)
14:35 273 150. 0 2.583 E BRige14:35 Bz CGRAERESE)
15:15 273 150. 0 2.583 El BRi&e15:15 Bz GRAEREE)
16:00 273 150.0 2.583 =l RRiB016:00 Bz (RFAEEE)
16:55 273 150. 0 2.583 = RRiB016:55 Bz (REAKEE)
21t] 4095.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.6

#HEKRECE (1877.0 vs 3877.0) d5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1

1

2

1

1

1.

0.

3

2

3

2

1

1.
0.
0.
0.
0.

0.
1500 ¢

10

5

P3-7_0, Day=70 (2025-06-07)

50 A

00 A

50

00 §

50 -

00 A

a1
o
1

2000

930

Warning: lcol [FVI',| "FVO’'] missing

VI, VB®RYV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2450 499

0

Warning: lcol ["WC1',  "WC2'] missing

870

40

4000

optEC0=2600. 0,

setECB=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

00 A

00 -

Bylnit

:

0

1

D72 02:00: ET=1923 Fg=2400.0 Ro=471.0

2 3 4 5

6

11

- 3000

- 2000

- 1000

cumET (ml/plant)

21

22 23

[

i

BB | BB | BB | B

[

i

ES
5]

E3
B

E3 ES
B 5]

- 3000

7

8

ByEt @D70 19:08: ET=2157 Fg=2499.0 Ro=nan

L TTLL

9

10

11

12

- 2000

- 1000

cumET (ml/plant)

21

22 23

[

i

BB | BB | BB | B

i

i

i

[

ES
5]

=
B

E3
B

E3 ES
B 5]

00 A

00 -

00 A

0 1

ByWoFv

—_——————-

D72 02:00: ET=1870 Fg=2250.0 Ro=457.0

10

11

12

- 3000

- 2000

- 1000

cumET (ml/plant)

16

17

18

19

20

21

22 23

8 -

E3
B

ES
5]

=
B

£3

B

E3
B

E3

B

ES
5]

=
B

3

B

E3 ES
B 5]

6_

4 4

2 4

0

00 -

00 ~

|
| _obs

—@— PPFD obs

80 1

60 -

40 -

RH_obs
RHo_obs

o VPD




25.

25.

24.

24,

24.

24.

24.

25.

25.

25.

25.

25.

26.

25.

25.

25.

25.

T T
800 1000

m=610,m FV0=0

T
600

8 1

6_

4 4

2_

0_

—o— M_E

7
i

6i5 6é0
m=730,n FV0=0

—o— M_E

ii;
i
?

7é5 7&0
m=850,n FV0=0

-o— M_E

i
i
i

855 860

m=455, FV0=0

23.00 A

22.75 A

22.50 A

22.25 A

22.00 A

21.75 4

25.

25.

25.

24.

24.

24.

25.

25.

25.

25.

25.

26.

25.

25.

25.

25.

—o— ME

4é0 4é5
m=640,n FV0=0

—o— ME

6&5 660
m=760,n FV0=0

—o— ME

765 7%0
m=880,n FV0=0

760

-o— ME

880 885 890

23.

23.

23.

23.

23.

22.

25.

25.

25.

25.

24.

24.

25.

25.

25.

25.

25.

25.

25.

25.

25.

m=490, FV0=0
87 —o— ME
6 -
4
2
0
g -
490 495 500
m=670,m FVO=0

—o— ME

6;5 GéO
m=790,n FV0=0

—o— ME

755 860
m=910,m FV0=0

-o— M_E

915 920

m=535, FV0=0

24.8 A

24.6 A

24. 4 -

24.2 A

24.0 A

23. 8 -

—0—

M_E

535

540
m=700,n FV0=0

T
545

25. 8 A

25.6 -

25. 4 4

25.2 ~

25.0 A

24.8 A

A

700

765
m=820,n FV0=0

T
710

25. 8 -

25.6

25. 4 -

25.2 -

25.0 ~

—0—

M_E

820

Bé5
m=945,n FV0=0

830

25. 8 -

25.6

25. 4 -

25.2 ~

——

M_E

945

950

955




25.

25.

25.

25.

38.

38.

37.

41.

40.

40.

44.

43.

43.

42.

m=980, FV0=0
—o— ME
6 -
4 -
2 -
0 -
980 985 990
m=490,m FV0=0
—o— MW
5 -
0 -
5 -
490 495 500
m=670,m FV0=0
—o— MW
0 -
5 -
0 4
670 675 680
m=790,m FV0=0
0 —o— MW
5 -
0 -
5 -

795 800

25.

25.

24.

24

39.

39.

38.

38.

41.

41.

40.

44,

44,

43.

m=1030, FV0=0

—0— ME
2
0 -
8 -
6
T T T
1030 1035 1040
m=535,m FV0=0
—— MW
5
0 -
5
0 -
T T T
535 540 545
m=700,m FV0=0
—— MW A" )
5
0 -
5
[
700 705 710
m=820,m FV0=0
- MW
5
0 -
5
820 825 830

39.

39.

39.

38.

38.

38.

42.

42.

42.

41.

41.

41.

45.5

45.0 -

44.5

44.0 -

T T
800 1000

m=610,m FV0=0

T
600

50 A

25 -

00 ~

75

50 -

25 A

M_W

6%5 650
m=730,n FV0=0

50 A

25 -

00 ~

75 -

50 A

25 A

- M

w

7é5 7&0
m=850,n FV0=0

-0— MW

1B

855 860

m=455, FV0=0
37.5 - —— MW
37.0
36.5
36.0
T T T
455 460 465
m=640,m FV0=0
—o— MW
40.0
39.5
39.0
T T T
640 645 650
m=760,m FV0=0
—o— MW
43.0
42.5
42.0
760 765 770
m=880,m FV0=0
—o— MW
45. 75 -
45. 50 -
45. 25 -
45. 00 -
44.75 -
44.50 -
880 885 890




m=910, FV0=0

46. 00

45.75 A

45. 50 A

45. 25 ~

45. 00 ~

44.75 -

—0—

M_W

910

T
915

920

m=945, FV0=0

46. 00 -

45. 75 A

45. 50

45. 25 A

45. 00 A

44.75 A

——

M_W

945

T
950

955

m=980, FV0=0

46. 00

45.75 A

45. 50 A

45. 25 ~

45. 00 ~

44.75 -

—0—

M_w

980

T
985

990

45. 50 A

45. 25 A

45. 00 -

44.75 A

44.50 A

44, 25 -

m=1030, FV0=0

—o—

MW

T
1030

T
1035

T
1040




hour

10:
11:
12:
12:
13:
13:
14:
14:
15:
16:
17:
22:

0 N 94 o O

100

80

55 - 60

- 40

20
55

§_

% K L
% &8
S Q\g’é\ »g\%}'

%
s
S X



P3-7

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:30 273 150. 0 2.583 F|  {Ri1%006:30 Bah (RF{ESE
07:05 273 150.0 2.583 F[ BRi%e07:05 Bz (RAERSE)
07:55 273 150.0 2.583 S| {Rig@07:55 Bz (RAERSE)
08:45 273 150. 0 2.583 E  BRi%e08:45 BE1 (RAERRE)
09:35 273 150.0 2.583 F[ BR1%e09:35 BE1 (RAERE)
10:15 273 150.0 2.583 =l {Ri%@10:15 B3 (GRAERSE)
10:55 273 150. 0 2.583 E BRi%e10:55 Bzl (GRAERERE)
11:35 273 150.0 2.583 S {Ri%e11:35 Bz (GRAERSE)
12:10 273 150.0 2.583 =l {Rige12:10 B3 (RAERSE)
12:45 273 150. 0 2.583 E BRige12:45 Bz CGRAERESE)
13:15 273 150.0 2.583 5| {Ri%e13:15 Bz (RAERSE)
13:45 273 150.0 2.583 = RRiB013:45 B (RFAEESE)
14:20 273 150. 0 2.583 E BRige14:20 Bz CGRAEREE)
14:55 273 150.0 2.583 5| {Ri%e14:55 B3 (RAERSE)
15:35 273 150.0 2.583 = RRiBe15:35 B (RFAEESE)
16:20 273 150. 0 2.583 =l RRiB016:20 B3 (REAKEE)
17:15 273 150. 0 2.583 El BRi&e17:15 Bz GREAEREE)
Bt 4641.0 (17)%) 2550. 0 323 %KEC: 2080.0, PH: 5.7

##[EKECE (1820.0 vs 3780.0) d5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-7_0, Day=69 (2025-06-06)

150 Fo—————F——————F——————F——————F————— T ——————F—————— 4000

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3362

100 A 2288
1900 2000 159

391
50

Warning: lcol [FVI',| "FVO’'] missing 124

maxM

200 + FRV

100 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing

i 4000

400 § Bylnit [@D72 02:00: ET=1981 Fg=2400.0 Ro=489.0

- 3000

- 2000

Z@

- 1000

ET (ml/hr/plant)

ET (ml/hr/plant)

07 0 1 2 K] 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -2000
‘O0TH [Z=| % [ m | M | W | B | # | | f | B | & | A& | 5 | A5 | B6 | #5 | A& | B | A5 | & | B8 | A& | B8
ByEt @D69 19:08: ET=2276 Fg=2808.0 Ro=nan 3000
- 2000
- 1000
o1 1] 2 215 10 5 7 - 9000
WTTHE (x| % | B | m | B | k| B | k| B | k| B |k |B|k|B |k |B| R | 25285522 B
| |
3001 ByWoFyv &D72 02:00: ET=2159 Fg=2550.0 Ro=536.0 3000
200 - : - 2000
]
]
100 4 : - 1000
1.0 0 1 2 K] 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0osl B |Z-| 5 [ | |5 [ 5 [BE |5 | BS & 5 g | B | B | B 5 5 EREAREREAEEA R
0.6
0.4 4
0.2 4
0.0
—_— 4
1500 -

[ ] | _obs

—@— PPFD obs
1000 -

500 -

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



25.0

24.5

24.0

23.5

23.0 A

22.5

22.

22.

22.

22.

22.

22.

24,

24.

24.

23.

23.

23.

23.

24.

24.

24.

24.

23.

T T
800 1000

m=545,m FV0=0

600

80 ~

78 -

76

74

72

70

5€I'>0 5%5
m=665,n FV0=0

50 A

25 -

00 A

75

50 -

25 A

00 -

—o— ME

650 6%5
m=785,n FV0=0

75

50 A

25 -

00 -

75 -

-o— ME

i

790 795

23.

23.

22.

22.

21.

24.

24.

24.

24,

23.

23.

23.

25.

24,

24

24.

24.

23.

m=435, FV0=0 m=465, FV0=0
0 1.0
8 0.8 4
6 0.6 -
41 0.4
2 0.2 ~
Warning: col ['M_E'] missing Warning: col ['M_E'] missing
0 T T T T 0- 0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
m=585, FV0=0 m=620, FV0=0
—o ME | 407 o wE
5 -
. 23.5
0000000000000 9°
9 23.0
0 -
22.5
5 -
T T T T T T
585 590 595 620 625 630
m=695,m FV0=0 m=725,m FV0=0
75 1
—&— ME 24.75 A —-@— ME
50 -
2450 -
25 +
24. 25 A
00 ~
24.00 -
75
23. 75 A
50 +
25 B T T T 23. 50 L T T T
695 700 705 725 730 735
m=815,m FV0=0 m=845,m FV0=0
00 ~ - M_E 25.0 A . M_E
75 24.8 1
24.6
50 +
24. 4
25
24. 2 1
00 -
24.0 -
[ 23.8
815 820 825 845 850 855

m=495, FV0=0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8

m=630, FV0=0

—_

24.5

24.

23.

23.

22.

—o—

M_E

630

6(I35 64I10
m=755,n FV0=0

24.75 A

24.50 A

24.25 A

24.00 A

23.75 A

—o—

M_E

755

760 7é5
m=875,n FV0=0

25.0 -

24.8 A

24.6

24. 4

24.2 A

24.0 -

—O—

M_E

875

880 885




m=910, FV0=0 m=945, FV0=0 m=985, FV0=0 m=1045, FV0=0

25.0 - M_E 25.0 - M_E s o M_E 24.6 1 - M_E
24. 8 24. 8 24. 4
24. 6
24.6 - 24.6 - 24.2 -
24.4 24.4 4 24.41
24.0 A
24.2 24.2 24.2 7
23. 8 A
24.0 A 24. 0 A 24.0
23.6
T T T T T T T T T T T T
910 915 920 945 950 955 985 990 995 1045 1050 1055
m m=435,m FV0=0 m=465,m FV0=0 m=495,m FV0=0
1.0 1.0 1.0
0.8 + 0.8 4 0.8 +
0.6 - 0.6 - 0.6 -
0.4 0.4 0.4
0.2+ 0.2+ 0.2+
Warning: col "MW 1] missing Warning: col "M W ] missing Warning: col "MW ] missing
T T T 0 0 T T T T 0 0 T T T T 0 0 T T T T
600 800 1000 0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
m=545,m FV0=0 m=585, FV0=0 m=620, FV0=0 m=630, FV0=0
] ] 36. 75 4
37.1 —o— MW 36.10 —— MW —— MW —o— MW
36. 05 - 36.50 1 37.0
37.0 A
36. 00 - 36. 25
36.9 - 35. 95 - 36.00 - 36.5 -
35 90 - 35. 75 A
36.8 - 36.0 4
35. 85 35. 50 -
36.7 - 35. 80 - 35. 25 1
545 550 555 585 590 595 620 625 630 630 635 640
m=665,m FV0=0 m=695,m FV0=0 m=725,m FV0=0 m=755,m FV0=0
37.50 - - MW 38. 00 A . MW 38. 50 - - MW 39. 00 A - MW
37. 25 A 37.75 A 38. 25 ~ 38. 75 A
37.00 A 37. 50 A 38. 00 A 38. 50 A
36. 75 A 37. 25 A 37.75 A 38. 25 A
36. 50 37.00 A 37. 50 A 38. 00 A
36. 25 36. 75 A 37. 25 A 37.75 A
665 670 675 695 700 705 725 730 735 755 760 765



m=785, FV0=0

39. 4

39. 2 A

39. 0 -

38. 8

38. 6

38. 4

38. 2

—o—

M_W

T
785

7é0 7é5
m=910,n FV0=0

41. 25 A

41.00 ~

40. 75 A

40. 50 ~

40. 25 A

40. 00 ~

—o—

M_W

T
910

T
915 920

39.

39.

39.

39.

38.

41.

41.

41.

40.

40.

40.

m=815, FV0=0

75 -

50

25 A

00 -

75 A

—0—

M_w

T
815

850
m=945,n FV0=0

T
825

50

25 A

00 -

75 -

50

25

——

M_W

T
945

T
950

955

m=845, FV0=0

40. 50 ~

40. 25 ~

40. 00 ~

39. 75

39. 50 A

39. 25 A

—o—

M_W

T
845

860 865
m=985,n FV0=0

42.0 -

41.5

41.0 A

40.5

—o—

M_W

T
985

T
990 995

m=875, FV0=0
—— MW
40. 75 A
40. 50 A
40. 25 A
40. 00 A
39. 75 A
T T T
875 880 885
m=1045n FVO=0
—o— MW
42.0 A
41.5 A
41.0 A
T T T
1045 1050 1055
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P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

05:45 273 150.0 2.583 5| {Rig@05:45 Bz (RAERSE)
06:35 273 150. 0 2.583 E  1BRi%e06:35 BE1 (RAERERE)
08:05 273 150.0 2.583 (Z=| {Ri%@08:05 Bzh (FAERSE)
09:10 273 150.0 2.583 FA| {Ri%@09:10 Bz (GRkA{EREE)
10:00 273 150.0 2.583 FA| {Ri%@10:00 Bz (GkAERESE)
10:40 273 150.0 2.583 FA| 1BRi%@10:40 B3h (KRAERSE)
11:30 273 150.0 2.583 FA| {Ri%@11:30 Bz (GRAERE)
12:20 273 150.0 2.583 FA| {Ri%@12:20 Bz CGRAEESE)
13:10 273 150.0 2.583 |Z=| {Ri&e13:10 Bz (REEZERE)
13:55 273 150.0 2.583 (£ =| {Rig@13:55 Bz (REAEDSE)
14:45 273 150.0 2.583 (Z=| 1Ri%e14:45 Bz (REAERSE)
16:00 273 150.0 2.583 |Z=| {Ri&e16:00 Bz (KREAEZEHE)
17:20 273 150.0 2.583 (Z=| 1Rig17:20 B3 (RAERSE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.8

#HEKRECE (1773.0 vs 3803.0) d 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=68 (2025-06-05)

150 A

V1, VRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 3000
2300 2288
100 1 1900 911
oho aod 2000
50 |
00 60 1000
Warning: lcol [FVI',| "FVO’'] missing
0 -0
200 4 === vi —— ME H30
150
100
50
1.0
U
0.8 -
0.6 -
0.4
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
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